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**syntax created by how2stats

**This syntax performs a one sample z-test in SPSS

**Simply enter the four relevant values in the line below underneath the 'begin data' command
**The first number is the sample size (35), the second number is the sample mean (105),

**the third number is the population mean (100)

**and the fourth number is the population standard deviation (15)

**Replace the four values below with your own.

**The p value that is reported is based on a two-tailed test.

**To obtain the one-tailed p value, simply divide the two-tailed p value by 2.

**As an extra, this syntax also calcuates Cohen's d as estimate of effect size.

data list list / n sample_mean population_mean population_sd.
begin data

35105 100 15

end data.

Compute mean_difference = sample_mean - population_mean.
Compute square_root_n =SQRT(n).

Compute standard_difference = population_sd/square_root_n.
Compute z_statistic = mean_difference/standard_difference.
Compute chi_square = z_statistic*z_statistic.

Compute p_value = SIG.CHISQ(chi_square, 1).

Compute cohens_d = mean_difference/population_sd.
EXECUTE.

Formats z_statistic p_value cohens_d (f8.5).

LIST z_statistic p_value cohens_d.
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data list list / n sample_mean population_mean population_sd.
at begin data
Comp . 35 105 100 15
Search Data Files
: EXECH end data.
Formg [={ Options...
||| L1sT 17 Compute mean_difference = sample_mean - population_mean.
18 Compute square_root_n =SQRT(n).
19 Compute standard_difference = population_sd/square_root_n.
20 Compute z_statistic = mean_difference/standard_difference.
21 Compute chi_square = z_statistic*z_statistic.
22 Compute p_value = SIG.CHISQ(chi_square, 1).
23 Compute cohens_d = mean_difference/population_sd.
I 24 [EXECUTE.
25 Formats z_statistic p_value cohens_d (f8.5).
26 LIST z_statistic p_value cohens_d. l
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1 **syntax created by how2stats|
2 **This syntax performs a one sample z-test in SPSS DHERe Girag
” 3 **Simply enter the four relevant values in the line below unden Active DataSet »
4 **The first number is the sample size (35), the second number IS tne sampie mean
M| cata st 5 **the third number is the population mean (100
begin data B **and the fourth number is the population standard deviation (15
end data. 7 **Replace the four values below with your own |
Compute 8 **The p value that is reported is based on a two-tailed test
Compute 9 **To obtain the one-tailed p value, simply divide the two-tailed p value by 2,
Compute 10 **As an extra, this syntax also calcuates Cohen’s d as estimate of effect size
Compute 11
Compute 12
Compute 13
Compute 14
EXECUTE. 15
Formats 16
LIsT 17 Compute mean_difference = sample_mean - population_mean

ICompute square_root_n =SQRT(n)
ICompute standard_difference = population_sd/square_root_n
Compute z_statistic = mean_difference/standard difference
ICompute chi_square = z_statistic*z_statistic
ICompute p_value = SIG.CHISQ(chi_square, 1),
ICompute cohens d = mean_difference/population _sd

Formats z_statistic p_value cohens d (f8.5
LIST z_statistic p value cohens d

R
|IBM SPSS Statistics Processoris ready| | |Unicode:ON [In 27 Col 0| [NUM |

Edit View Data Transform Insert Format Analyze DirectMarketing Graphs  Utilities Add-ons  Window  Help

SHERINM - » ABLT O P RS B
€5 += L Qe

=+ {& output

data list list / n sample mean population mean population sd.
begin data

35 105 100 15

end data.

Compute mean_difference = sample mean - population mean.
Compute square_root_n =SORT(n).

Compute standard difference = population sd/square_root n.
Compute z_statistic = mean difference/standard difference.
Compute chi_square = z_statistic*z_statistic.

Compute p_value = SIG.CHISQ(chi_square, 1).

Compute cohens_d = mean difference/population_sd.

EXECUTE.

Formats z_statistic p_value cohens _d (£8.5).

LIST z_statistic p_value cohens_d.

List

z_statistic p_value cohens_d

=>4 1.97203 .04861 .33333

Number of cases read: 1 Number of cases listed: 1
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